Math B-Handout 23

Jones


Piecewise Applications


At this price, you can’t afford NOT to buy it! (Handout 5)
Ms. Yang wants to buy all 26 students in her math class a new notebook.  The pricing plan at Staples works as follows:

Notebooks cost $1.00 each, if she buys up to twelve.  Each extra notebook (after twelve) costs $0.75.  

1) Copy and complete this table with the given info.

	# notebooks purchased
	Total cost

	1
	

	2
	

	12
	

	13
	

	14
	


2) Make a graph that shows the total cost C(x) for buying x notebooks.

3) Find the equation for C(x), and write it as a piecewise defined function

4) What domain restriction makes sense for this situation?

5) Evaluate C(14) and explain what it means in this context.

6) What would be the total cost of buying 26 notebooks?

Ms. Yang finds a different distributor online.  The pricing for their notebooks is as follows.

If she buys up to 10 notebooks, they cost $1.00 each.  If she buys between 11 and 20 notebooks, the price drops to $0.90 cents each.  If she buys more than 20, they cost $0.80 cents each.  

7) Copy and complete this table with the given info.

	# notebooks purchased
	Total cost

	1
	

	10
	

	11
	

	20
	

	21
	


8) Let f(x) be the total cost of buying x notebooks. 
Graph f(x) on the same axis as C(x) from the problems above.
9) Find an equation for f(x).
10) How much will it cost to buy 14 notebooks at this pricing plan?

11) Evaluate f(18) and explain what it means in this context.

12) From which distributor will it be cheaper for Ms. Yang to buy all 26 notebooks?
